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i. (a) Wﬁat do you mean by Insider Trading? Who is g hlsider

as per SEBI Regulations? i

WW#WWW%%?%MJ
3 ?

FR T A P & | *

(b) An investor has to choose from two sccuritics. Theyp,

but the probability is same. Sy,

differcnt rates of return
i which security he should invest.
Probability ~ Return X) Return ()
0.1 10 12
'0.2 ; 10 14 :
0.3 20 18
0.4 . 25 20

_@ﬁama'auﬁqﬁﬁarwmlm
gﬁmaﬁﬁﬁw%ﬁmmm%lﬁm

ffera fs 98 BN ;ﬁ yfesfer & fasT & et |
[ DET o () e ()
0.1 10 12
v R || 14
0.3 20 18
A | 0.4 s 20 I
’] or (vvar)
= (a) What do you mean by the term unfair trade practiOC? whcﬂ

is a trade practice considered as fraudulent?
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(d) Aninvestor purchases an equity share at 5 pnce of Rs.100.

Tog

_Its expected year end price and dividend Wlth relevant

- probabilities are given below :
~ Probability - Share Price Rs) Divideng (Rs.)

0.1 135 - 8
0.2 - 15 »
04 . 110 o 3
02 . 105 2
0.1 95 NI

Find out the expected return and variability of return of the
. equity share. |

us faifer 100 GOH%WWT@WW
@ﬁm%lmﬁmﬁﬁwﬁwmaﬂrm

& g Wi A &
LD ET I e (o) @ (%o)
0.1 135 8
0.2 125 5
0.4 110 3
0.2 .. 105 2
0.1 95 NIL
5 . P.T.O.
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2. (a) Dlﬁ'crcntlate between SENSEX and NIFTY.

ﬁﬁﬁmﬁmﬁ?m|

{

(b) A company is contemplating to issue bonds having o

alue of Rs. 5000 which will be redeemed overa pergy

5 years in five equal annual instalments. The bond cami

8%. Find the price at whicp,

a'couponfinteresf rate of
bonds should be issuéd to the investor having expected

of return of 10 %.

zﬁmﬁ’rmooaoa'?alﬁﬁ‘lﬂaﬁa@%ﬁﬁ
wﬁaﬂmrﬁ%sﬁwa&aﬁqﬁmmﬁ-
'mﬁggr&mﬂﬁlmws% F FAT AW A
P &1 9% I @ S BT R ® AR
aﬁlo%wﬁwaﬁmﬁfﬂﬁﬂﬁmmﬁﬁ
qieq | - | |

|  Or (srr) |
(2) Define the term mvestment How is 11 different ff"m

speculation ?

ﬁ%mw@rqﬁnﬁaﬁﬁmu@mﬁﬁﬁ%ﬁm
g _ 4
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(b) A bdnql having face value of Rs 1000 is cufreﬁtly sold
| at Rs. 1078 . The coupon rate (payable annually) is 12
%. It will be maturing after 3'IYears . What is the yield
expected -onl tﬁis_bond by the investor ? If this bond
 is callable after 5 years at Rs. 1050, what will be the
yield? | |
1000 Fo ST e AT ilruga?ftrﬁ ¥ 1078 Bo ¥
¥ @Y A R (@ ) 12% ¥ 78 8
a&»m.qﬁmmlﬁ%wmsmm@rw
TG B A &2 ﬂﬁ'ﬂgmqﬁaﬁfqﬁﬁ 1050 ¥
- WioRT & o w4 A éhrr? | 11

¥ “(2) Briefly éxplain Dow Theory with the help of a diagram.
RecliE] a?r amar i?r Dow Rz @t @8y H e
Bt e ~ 5 o

(b) ABCCo haSJustpaldadmdendofRs 2 per share . In
view of the rapid growth of the company , the dividend is | _
expected to grow at 10 % p.a. for next 3 years. After that
the growth process will slow down and the dividend is

‘expected to grow only at 8 % p.a. inﬁnitély. In view of the

5 h - P.T.O.
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riskinvolved in the investment , arefurn of 20 % s COnsidery,
appropriate. What is the price an investor should be reagy,

to pay for this share?

'Ach?ﬁ%aﬂﬁ2aowﬁraTmasramﬁm%|
Ferdt & aRa i B GREPIT ¥ T8 TR fy
mm%ﬁwﬁfﬁ#aﬁaﬁm 10% Wi o
) Sad A% e e SR & S oy
ms%nﬁa&ﬁwra@m@mﬁﬂwﬁaﬁqﬁa
SR & AR 20% T HHel SIFHR AT S T
b\ fo @ T o @ g e AR @ R
R ¥R ©W AR g e 1l

| | Or (1)
(a) Explain Economy—hldush'y-Company (EIC) Approach
eazfala'mwa‘m-a;m'—ﬂ (EIC) SUFT qEET

P

4

(b) XYZ Company’s current share_ price is Rs. 72 and its last

dividend paid was Rs. 4.80. If dividends are expected 10

grow at a constant growth rate g and if required
return (k_ ).is 12 %, what is XYZ's lcxpcctcd share pri

' years from now?

XYZW#[WE‘EI\HQT&?I%'Gol

- T 4.80 Bo ﬁmw%mﬁmﬁﬁﬂ?ﬁm

6
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& (k) 12% %a‘r XYZM%WWWWW
q& @M B |
| I

4. (a) Explain the procedure involved ip credit rating of depy
instruments. .
7 el & BRe W § aRferr wfpar AT |
(b) The following infoi‘maﬁcin is available with réspect totwo
" securitiesin the portfoho of Mr. Mohmder
Secur:ty Weight R_e'tum Standdrd'

. Deviation
A A% 15%  20%
- B 60% ©18% 14%

@) Fmd out the corrclatxon coefficient between the two

securities if the standard dewahon of the portfolio is

- 14%. |
(i) Find out expected return a_nd standard deviation of
the portfolio comprising of A and B in the ratio of

30%and 70% respectively and correlation coefficient

of 1.
ﬁ%ﬁ?%ﬂé@%ﬁﬂ%ﬁuﬁ‘iﬁ@ﬁwﬁﬂﬁ
ﬁnrqsr-qu% |
- ; P.T.O.
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R W wRew m%
A 0% 1% g,
B 60% 18% L4,
ﬁﬁwﬁm#wmﬁwq&
QIR &1 T e 14% #)
()aﬁmﬁauﬁmaﬂuﬁﬁmﬁaﬁw
Aamnmso%am%%'ﬁmm
1 ¥ o A e femg ) :
 or(emy)

(a) Differentiate between systematic risk and uﬁsystemaﬁc

| mﬁaﬁah@aﬁﬂamﬁwmm n

(b) From thé data given below find which of the following

securities are overb_riced_ or underpriced using SML

equation : |

Security P ‘.'Q R SIT
B 14 08 11 25 20

Rewrn 12 m1 17 2 16

The return on market index is 11% and the return on risk

free asset is 5%.
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e e A W ol s e o ol A
& T T B &7 |
W P Q2 R S T
B 14 08 L1 25 20
wq 12 U 17 1 16
R o W gfiww 11% ¥ @R Sifew e Ewafe
w® TR 5% & B ¥
5. (a) The following particulars are given mlaﬁpgtoazmmmlﬁmd:
OpeningNAVpcrunit Rs. 22
Closing NAV per unit  Rs.28
Administrative ExpensesincludingFund
Manager Remuneration: Rs 134 lakhs
Management Advisbry Fees Rs. 85 lakhs
Publicityand Documentation Rs. 51 lakhs

Total units issued by the fund are _200 lakhs. Ascertain the

ExpénseRatio. - : .

| o mggow ws & wabew frer e ST
© gPws 9T S NAV ~ 227%0
s NAV 9fa 3% 98 %o

| 9 P.T.O.
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L8400y,
Flﬂ:ﬂa'vw WIBEFR' qﬁ‘ﬂ 85 00,00 N
TR ™ ﬁ'ﬁﬂ%ﬁf | 51,00,09, %
g T Pl &9 IR 20000000,
aﬁmmﬁmﬂmi | 4

(b) Mr. Sunil has bought calland put options both. Each copt,

is of 1000 shares. He has purchased one 3-months ¢y
with a strike price of Rs. 154 and Rs. 15 as premium. je
has purchased a 3-months put option with a strike price of

Rs. 150 and Rs. 13 as premium. Find out his position and

total profit or loss if Sfock pric%e on expimﬁon dateis (i) Rs.
120, (ii) Rs. 180. , | -

firo LRI < Call 3R Put option &I @'ﬂ%%l ]
S 1000 S ¥ IqY 3 G B T Call optice

154 Fo T TITH T AR 15 Fo M T T

9E TF 3 WTE &f Put option 150 To TIEH e 9

13 Bo M@ & @oe | mmaﬁmﬁﬁ

P aft ofar ot Rafr w wfe e & () 17
.%o, (ii) 180 %o | . )
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Or (Si'lm)

o) What do you mean by futures? How 4 future contrac

different from forward contract?

m’ﬁmmﬂm&t?mmtﬁm-m
AT A Y R ¥

(b) Mr. Aisholding shares of X Ltd. in his portfolio. Probatly,

1798

distribution of expected return from this stock and marke:

index is given below:
Situation  Probability . Return Return
of A(%) of market(%)
Recession 0.2 6 10
Average 0.4 15 16
- Good 0.3 27 2
Boom 0.1 30 29

The risk free rate is 7%. Assuming that CAPM conditions
hold true, should Mr. A continue to hold this stock in his
portfolio?

fro A ¥ o dewIREr ¥ X fo & oiw fly ¥ @
©iF & wwfaa Sfwd & midwar 92T i T@n

gadis e €
freda waftear A & Woew  ¥E
(%)  whes (%)
s 0.2 6 w
- 0.4 15 "
3BT 0.3 21 22
- 0.1 30 "
P.T.O.
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